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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / YUls—&

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type

questions of nine and half (9%) marks each.

Learners are required to answer two (02) questions
only.
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1. Trace the curve:

x3 +y3 =3axy
I BT SFIRG DI -
X3+ Y% =3axy
2. Provethat:
B(m,n)=p(m+1n)+p(mn+l)
Rrg @IfT -
B(m,n) =B (M1 n)+B(m n+D)
3. Find polar form of the given Cartesian equation
o2u 82u _0
2 5'y2

WﬁIW%ngg g —0 @ gd HURRY
HINTY |

4. Solve:

xdx +y dy =a? xdy -y dx
X2 +y?
gel DI -

xdx+ydy:a2(XdZ_y2dX]
X2+y
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre

B-37

questions of four (04) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ ¥ s (08) oY ST W ¥ W F
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Test the convergence of the following series :
1 3 5

123234 345"

ferferRad s1ofl & SIFRIRYT &1 URIeTor IR

L o+ 3 o+ > +
1.2.3 2.3.4 3.45

X 1
Prove that the maxima value of (;j is ee.

ﬁ{@aﬁﬁnﬁ?(%ywmﬂwé%‘l

Find the asymptotes of the curve :

4x3 —x2y —4xy? +y3 +3x2 + 2xy—y2 —-7=0
fyefoRad 9% & vt od IR -

4x3 _x2y —4xy? +y3 +3x% +2xy—y2—7=0
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Change the order of the double integral :
a pa2-x2
jo jo f(x, y)dxdy

fg-TmTdhed & THIGT BT HH IR BT

j;" IOJH f(x, y) dx dy

Find the volume of the solid generated by the
revolution of r =2acos 0 about the initial line.

r=2acos® & URMMH @ & FU GAM T I
O T 3TITH ST BT |

Find the Pedal equation of the curve x2 +y2 —2ax =0.

Th x24+y2 —2ax=0 T UGS FHERI DI |

Find the radius of curvature at the origin for the curve
3x2 +4x3-12y =0.

Th 32 +43-12y=0 @I Yo fdg W dhel Bl

S DI |

Find the envelope of the ellipse X=asin(0—a),
y=bCosO where a is a parameter.

" g x=asin(0—o), y=bcose W&l o UEd T,
@1 AT G DI |
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Section-C / GUs—TT
(Objective Type Questions) / (A& T)
Section ‘C’ contains ten (10) objective type

questions of half % mark each. All the questions

of this Section are compulsory.

dlc ;. @ve T H g9 (10) TS WA A W B | u1S
we & forg omnr 1 ofe FRiRG 81 g9 @ve &
T e et |

Fill in the blanks :

Rt Tt @ off FIRT

1. Jw e XxV20x = ...

2. |If

0

2, \2
u=tan-t| Y7 then x My
X+y ox T oy

2 2
'qﬁ u:tan—l(x +y )’(_ﬁ X@—ky%: .................

X+Yy

3. The function y=(x—1) (x—2)? isminimaat ............

By =(x-1) (x—2)2 &1 [fETS 91 fag

BT |
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If V is the volume enclosed by x>0,y>0, z>0 and
X+Y+2z<1, then Ijjx'—lym—lz”—ldx dydz=...... :
V

afe v Hadl x>0,y>0, z>0 A X+y+z<1
¥ uReg o9 @1 amad 8,
J‘J. Xl—]_ym_]_zn_ldx dy dZ: .............. |

V

An algebraic curve of degree n cannot have more than
............ asymptotes.

NG @ ST T b STl Bl TR q
3fF T & AhH |

12 .
lfm>-1,n> -1, then I(;T cos™ 9sin" 0d0 = ......... .

/ o
I m>-1 n>-1, @ J'gzcosmesm”ede:

Integrating factor of the differential equation
Q+ytan X=SecXx is
x =SECX IS .cvrunne. :

3fadHe  FHIGRY] %ertanxzsecx BT FHIDAA
X

Cauchy’s remainder after n terms in the expansion of a
function f (x) by Taylor’s theorem ............

B f(X) méa?qﬁaﬁﬁ?ﬂwaﬂfrq?nqaﬁa%
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9. Zi is convergent if ............. :
nP

10. If for a curve y=Tf(X), radius of curvature is

n
dy 2
L 1 thenn=............ .

d?y

dx?

e y=f(x) W @ fow wma Bow

dy2

R3]
L gl na a9 g

dcy

dx?2

p:

p:
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